{Ph%s 2?2( DV-Agc‘She_

/Kir(/ﬁ/')a/fg‘ r'u/(c’,ngrab/em .
GEar® npnn,-L)

v=aV |+ Ri3260

v,=42v |- Rz2=4R%20Q

T oop 2 @
Follaw fthe rec{pe/&fv‘a}f'@g«? gcven in _{(_ui?_apd_
with H 28 of Wed. session : -/’”"Te-,P“rg"'jiﬁ‘;’ﬁfgs
(51LQ_P U)\ U atied cuyrvent 1n each branchj[l,lzlg a.,éaue)/
c/{,,oo*s;ng ¢ rection for each “V‘a,ncﬂomta. a (e.g. I, are

o ol sy I3ﬁn (e ft)
[’TS{'Q_[? (7-)’ : CLPbg JMJLCHOP\ rule (@8 boiybf’ ma.fked) :

I,+1X5 (swm of t'n.coming) — Ig(Oaiﬁaing) (l)
{g(-eE(B)‘ : akb% uo(fage rule o (oapg shaown [we,

chaoSe both directions o be Lo c/kuﬂised‘u.s‘{' e

Simplickty = 1n 3enerd ,d(rec;(-e'ons could be
deffere for e.ac}a_”‘{aof and foop direchion t‘.S‘ chosen
6 >

fgdeﬁm&e% o‘J:/{w-rre.m": (n step (aﬂ:

'{"s—Farbng"’at fop 1eft) -

@I‘ Ban, % IQ’RZ g \). = Q y ;-e./
" ——

Lqte vi%k{‘l Iz-fbmah’t/ \ Loop gain From
laap gong to FIAMe ) puk loap 30"\8_ el U A “_*.9
| = et TS N rerminat 3

vight = 't :
neoative Ban = positive $:gn. basitive 5ign
g (obéos: te diredions) 1

LT 86 AT, il oMlie O yesalii)



—7 a‘nL/ C-lf\oicv i< Ok

@ (”S"\"ar’c-ir\gu at: botfonn N‘Zk{) ,

- I, R - 2

e Nd - T, R, "=0@ e,
T4 & loab \aop from \ T, ond
Sansdivechigw % Y00 =" (oap in
ferminal \ el

[C’C- wm Eq- G;B/d(reﬁdio n
ﬁweaqﬁue , ef, loop ! 0
Sign Y Eq. (W)

—1335JL — WP — 12432 =0 (Iu)

[s’rep(tk—)j: wWe do have as mand equations &5

unknaowns here | re., E£9S (1) ,@(\-) for 42,3
co Hrok VI do not need +o cxbb(_a rude s Furthe v,

(Sf‘eb@) ‘ Solue [=9qs (i)—i'n“) ) &9 -, ECL*(U) 34'u€_§
L= (q[}f—f “81, ) o) --- (V)
Tq," E- ‘
P(¢9g4n2}\(|v) and  Tq &OMKU) i«\jpigi.(m) gives

N
_ag1, —12\V - 350 (T, +(qv+qg:2)J o

ezl |I, =123 ool ey due to
/( 2 =P23 A =0 164AI,5L¢ to [eft reqmhive

w g G v alue | Eq .[1V) gives
Flading oot = efifa v, PRUTY

¥, z0-0%55 Aland plagging velues of T, 2 in Eg:l)
gives Tz ==0NgA (it to vight) ;

{‘Check with overall loop: —I:Ry — Ry Tgz~Vyp +V, =0
} (nV) — 0.0455 x25 + 35x0-11g —12 +9 X0




